Pre-Annual Examination - 2024

Full Marks : 80

H.S. I*tyear

Sub: Economics

Time : 3 hrs

(The figures in the margin indicate full marks for the questions)

Group - A
1. Answer the following questions: 1x6=6
woTe Al ey el fral ¢
(a) Define statisitcs.
oifil Rester el |
(b) Give one source of secondary data.
(oMl w29 T 51 vt |
(c) Whatis index number?
IS I 1 gl 2
(d) Define variable.
bereps gl fral |
(e) What is discrete series?
fifozs T F1F @I 2
() Give one utility of diagrammatic presentation of data.
fBae w1 A TR 61 R Bl |
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Answer the following questions:

T SPERY T il g
| (a) " Give two characteristics of statistics.
ARl Reaia 151 tafiey |

2x6=12

(b) " Mention the relation between mean, median and mode.
STy, L] SN 2T ST 051 Sl 991 |

(c) Write two demerits of Median.

TR 161 SR v |
(d) Define dispersion.

fvgrfer wiceat fiay
- (e) Give the meaning of standard deviation.
T Koy et & go |

()  What is corelation?

TR 5
Answer any four questions from the following:
OO RS Tes fral
(a)  Write four characteristics of index number.
5 BIfEOT CafEy fae |
(b) Write a note on scatter diagram.
Al foas esiw® Bt il forat |
(c) Calculate median of the following data:
O OUTRS S{J T ey 3wt |
X: 8 10 12 14 16 18 20
f2°2 8 12 28 11 9 5

4x4=16

Export (..... Rs) O 5 8 8
el

Import (..... Rs) 5 6 8 T

Part - B (‘4" SI)
Marks : 40

Answer the following questions:
oo epTIEd e il ¢
(a) Define opportunity cost.
[l e e Wl |
(b) Giveanexample of substitute goods.

s WA @IS Twad W3l |

1x6=6

(c) Write one characteristics of perfect competition. /

ofef eifTaIPTeTERs e <l CafE =il |
(d) Define production.

Tesiimeg e |
(e) What is elasticity of demand?
sifzwia FEfegsiee! e i et
(f) What is Monopoly Market?
qereral qeis [
Answer the following questions:
oo 2PTEE Gad (ral 8
(a) What is production possibility curve?
Tl SRS (@2 52

2x6=12
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(d) From the following table, find out mode:

O SifeTarls 7] q2eT faefd 34 ¢
Income (in Rs.) No. of persons

100 — 200 15

200 - 300 33

100 — 400 63

100 — 500 83

100 — 600 100

(¢) What do you mean by Measures of Central
Tendency. Describe the merits of Mean and
Medium.

(I eiRere! IfeTE 3 gl 2 gy wiss AR 7ol
ARt el 41 |

Answer any one question: 1x6=6

fRicical abie Tes fral 3

(a) Explain the various steps in the construction of

index number.
IS Mo RS Py 3ol i |

(b)  Construct bar diagram to represent the following
data:

O OAPTRRS A1F W o G Tergiem w4l |
Year 2003 2004 2005 2006 2007
=
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(b) Deﬁﬁe budget line and its slope.
GG (G941 S 2 Ber <! |
(c) Write two determinates of law of demand.
sifew g w61 Tt i |
(d) Point out two difference between fixed cost and
variable cost.
iy 7 W SifReTe 59 751 Triza fril|
(e) Whatis indifference curve?

fFaeers 2 6 e
(f) State the difference between supply and stock.

IS ST STeped oS “A19< (Yl

Answer any four questions: 4x4=16

Rl oifRoR Tes fra ¢

(a) Explain the determinants of elasticity of demand.
pifwia Ffogieirels T 0 1

(b) State the relationship between AC, MC and TC.
AC, MC 9l TCR SIS =R o1 A |

(¢) State the law of demand with diagram.
SR R a e 2 T4

(d) Explain the central problems of an economy.
o (rea ETPTR I

(¢) Explain the characteristics of monopoly market.

ST Telae EREPTR T T
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Answer any one of the following questions:

O TR RS B s fi
(a) Explain the situation of consur
case of two commodities.

76l AR (e SoeeR ©

(b) Explainthe law of diminishing marginal utility.
TP e Soaiaer RiEs! 3¢k <=1 |
(c) Calculate AP and MP from the following table:
T IfETEI 7St AP @i MP ey 1 s

Variable factor 01112

3

4

5

Total product (TP)| 0 | 8 |20

28

28

24
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